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THEF@EE RIEFH RIEH 2 RIEF &5 GEEER)
40mMLLTF 13,370 + 9,270 22,640
40mEB55mM LT 16,980 + 9,270 = 26,250
55mEB70m LA T 23,740 + 9,270 = 33,010
70miB8sM LT 30,600 + 9,270 = 39,870
85mB100m LLF 51,930 + 9,270 = 61,200
100m#8130m LA F 62,780 + 9,270 = 72,050
130mia 75,960 + 9,270 85,230

QttaesHiiEE GRERK)

EHEF@EE REEFH RIEH2 RIEH &5t GEERRD)
40mM LT 13,630 + 8,270 = 21,900
40mEB55m LT 13,630 + 8,270 = 21,900
55miEB70mM LA T 18,790 + 8,270 = 27,060
70mi#B85mM LU T 24,030 + 8,270 = 32,300
85m#A100m LA F 40,840 + 8,270 = 49,110
100m#B130m LU F 49,520 + 8,270 = 57,790
130mia 59,500 + 8,270 = 67,770
(2)th/pEERBRITI—X

O—RF=E (BEMRK)

EHEF@EE REEFH RIEH2 RIEH &5t GEERRR)
40mM LT 12,340 + 9,270 = 21,610
40mEB55m LT 15,590 + 9,270 = 24,860
55miEB70m LA T 20,700 + 9,270 = 29,970
70mi#B85M LI 25,900 + 9,270 = 35,170
85m#B100m LL T 42,770 + 9,270 = 52,040
100m#8130m LU F 51,180 + 9,270 = 60,450
130mia 63,600 + 9,270 = 72,870
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EHEF@EE REEFH RIEH2 RIEH &5t GEERR)
40mM LT 12,440 + 8,270 = 20,710
40mEB55m LT 12,440 + 8,270 = 20,710
55miEB70m LA T 16,020 + 8,270 = 24,290
70mi#B85m LU T 20,920 + 8,270 = 29,190
85m#A100m LA F 34,400 + 8,270 = 42,670
100m#B130m LU F 41,160 + 8,270 = 49,430
130mia 48,870 + 8,270 = 57,140
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(1) — ¥ = (1K) (8%E1A)
1EEHI-YDERETE HEERE R B AR E (3X) BiRFIKRE

500m K i 24,570 1[E&H7=4)24,570H 24,570

500 LA £ 2,000m K% 33,480 1[E#H7-1)33,480M 33,480M

2,000m LA £ 45,910M 1[8&7=1)54,000H 54,000
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BBREICOVWTIEIRDEEEELET,

1EEH-YDERETE HEERE R B AR E (3X)
500m K i 670M 670M
500m L1k 2,000m & 670M 670M
2,000m Ll E 3,320M 3,320M
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(2) tEpeaHEE = (F1K) (8%%Hi51)
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500 K i

500 L1_E 2,000 5% 32,400H
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	新築瑕疵保険料金表（共同）



